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Adding Ones to a 3-Digit Number

LO: to add ones to a 3-digit number

+

Calculate the answer to the following:

Calculate the answer to the following:

1) 136 +3 = 9) 165 + 8 =
2) 212 + 4 = 10)224 + 7 =
3) 381+ 6 = 11) 388 + 6 =
4) 494 + 5 = 12) 478 + 5 =
5) 533 + 4 = 13) 529 + 4 =
6) 620 + 7 = 14) 645 + 9 =
7) 725 + 4 = 15) 713 + 8 =
8) 952 + 7 = 16) 995 + 6 =
Calculate the answer to the following: Challenge

17) 165 + 7 =
18) 252 + 6 =
19) 395 + 9 =
20)478 + 1 =
21) 546 + 7 =
22)659 + 3 =
23)765 + 3 =

24)971 + 8 =

Explain how you would use

7 + 8 = 15 to calculate 537 + 8.
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Adding Ones to a 3-Digit Number

+

LO: to add ones to a 3-digit number

Calculate the answer to the following:

1) 136 + 3 =139
2) 212 + 4 = 216
3) 381 + 6 = 387
4) 494 + 5 = 499
5) 533 + 4 = 537
6) 620 + 7 = 627
7) 725 + 4 = 729

8) 952 + 7 = 959

Calculate the answer to the following:

9) 165 + 8 =173
10) 224 + 7 = 231
11) 388 + 6 = 394
12) 478 + 5 = 483
13) 529 + 4 = 533
14) 645 + 9 = 654
15) 713 + 8 = 721

16) 995 + 6 = 1001

Calculate the answer to the following:

17) 165 + 7 = 172

18) 252 + 6 = 258
19) 395 + 9 = 404
20)478 + 1 = 479

21) 546 + 7 = 553
22) 659 + 3 = 662
23) 765 + 3 = 768

24)971 + 8 = 979

Challenge

Explain how you would use

7 + 8 = 15 to calculate 537 + 8.

7+8=15
37 + 8 = 45

537 + 8 = 545

oy

twinkl.co.uk



